
Solution to ECE Test #5 S07 #1
Find the numerical values of the constants.
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A = 3  ,  B = -27  ,  b = 3  ,  C = 6  ,  c = 1
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A = 1/8=0.125  ,  B = -1/64=-0.01562  ,  C = 1/64=0.01562  ,  c = 8



Solution to ECE Test #5 S07 #2
Find the numerical values of the constants.
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A = 2  ,  B = -3  ,  b = 1  ,  C = 3  ,  c = 3
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A = 2/5=0.4  ,  B = -2/25=-0.08  ,  C = 2/25=0.08  ,  c = 5



Solution to ECE Test #5 S07 #3
Find the numerical values of the constants.
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A = 3  ,  B = -66  ,  b = 4  ,  C = 27  ,  c = 2
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A = -3  ,  B = 3  ,  C = -3  ,  c = 1


